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Instructions
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A student has been given a set of questions to answer. They tried their best but 

think they have got some answers wrong.


Go through the work and check the answers. Help the student understand their 

errors by explaining what they did wrong or how to find the correct answer (there 

are prompts below the questions to help you).


Note that you will not always be asked to provide the correct answer.

1 Partition the rectangle into fourths.

Explain why the student’s model is correct or incorrect. 

This answer is: Correct Incorrect 

2 Fill in the blank to make the sentence true.



The circle is split into ____________.

Explain why the student is correct or incorrect. 

This answer is: Correct Incorrect 

halves
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3 Fill in the blank to make the sentence true.



______ thirds make one whole.



Use the diagram to help you.

If incorrect, what should the answer be? Explain.

This answer is: Correct Incorrect 

4 Check the shape that is split into 4 equal shares.

Explain how you know when a shape is split into equal shares.

This answer is: Correct Incorrect 

Two
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5 Allie says the rectangle is split into fourths because the 4 parts are the same 

size.


Nolan says they are not split into fourths because the 4 parts are different 

shapes.



Who is correct?

If incorrect, what should the answer be? Explain.

This answer is: Correct Incorrect 
Nolan
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Question 

Number
Question Answer

1 Partition the rectangle into 
fourths.

Given answer: 






Explain why the student’s 
model is correct or incorrect. 

Incorrect

The rectangle is split into 4 parts, but 
the 4 parts are not of equal size. 
Therefore, the student did not partition 
the rectangle into fourths.

Correct answer: 





Students need to understand that a 
model showing fourths must have 4 
equal parts.

2 Fill in the blank to make the 
sentence true.



The circle is 

split into ____.

Given answer: halves



Explain why the student is 
correct or incorrect. 

Correct

The circle is split into 2 equal parts. 
When a shape is split into 2 equal 
parts, each part is one-half of the 
whole shape. So we can say that the 
circle is split into halves.




3 Fill in the blank to make the 
sentence true.



______ thirds make one 
whole.



Use the diagram 

to help you.



Given answer: Two



If incorrect, what should the 
answer be? Explain.

Incorrect

A shape that is split into thirds has 3 
equal parts. All 3 of those parts 
together make one whole. Similarly, 2 
halves and 4 fourths also equal one 
whole. 

Correct answer: Three



The diagram shows a shape split into 3 
equal parts, or thirds, with all 3 parts 
shaded in. This proves that 3 thirds 
equals one whole.
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Question 

Number
Question Answer

4 Check the shape that is split 
into 4 equal shares.





Given answer: 






Explain how you know when 
a shape is split into equal 
shares.

Incorrect

The student chose a shape that was 
partitioned into 4 parts, but the parts 
are not equal.



Correct answer: 





A shape is split into equal shares when 
each of the shares is the same size; the 
shares must take up the same amount 
of space of the whole shape.


5 Allie says the rectangle is 
split into fourths because 
the 4 parts are the same 
size.

Nolan says they are not split 
into fourths because the 4 
parts are different shapes.






Who is correct?



If incorrect, what should the 
answer be? Explain.

Incorrect

The student thinks Nolan is correct in 
thinking that the parts are different 
shapes so they must not be equal 
shares.



However, a shape is split into equal 
shares when each part has the same 
area, even if the parts are not the same 
shape. 



Correct answer: 

Allie



The rectangle is split into four parts. 
You can see the two vertical parts are 
equal in size and shape and the two 
horizontal parts are equal in size and 
shape. Since the vertical and horizontal 
parts each take up half of the shape, 
you can conclude that each part is a 
fourth of the whole shape.



Differentiated instruction for each student

Aligned to your state's standards

Scaffolded learning to close gaps

“We just had our first session and it went great! The kids really liked 
it and felt like they were learning! One even said he finally felt like 
math was making sense.”

Michelle Craig, Instructional Coach,

Sherwood Forest Elementary, Washington

Each student could receive personalized lessons every week from our 

specialist one-on-one math tutors.
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